
SAP ABAP table MEPI_EBAN {Buffer requisition structure for SAPLMEPI}

MEPI_EBAN

MANDT [CLNT (3)]

BSART [CHAR (4)]

FRGKZ [CHAR (1)]

EKGRP [CHAR (3)]

MATNR [CHAR (18)]

EMATN [CHAR (18)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

MATKL [CHAR (9)]

RESWK [CHAR (4)]

MEINS [UNIT (3)]

LPEIN [CHAR (1)]

PSTYP [CHAR (1)]

KNTTP [CHAR (1)]

LIFNR [CHAR (10)]

FLIEF [CHAR (10)]

EKORG [CHAR (4)]

KONNR [CHAR (10)]

KTPNR [NUMC (5)]

INFNR [CHAR (10)]

DISPO [CHAR (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

LBLNI [CHAR (10)]

BWTAR [CHAR (10)]

SOBKZ [CHAR (1)]

BMEIN [UNIT (3)]

PACKNO [NUMC (10)]

FRGGR [CHAR (2)]

AKTNR [CHAR (10)]

ADRNR [CHAR (10)]

ADRN2 [CHAR (10)]

KUNNR [CHAR (10)]

EMLIF [CHAR (10)]

WAERS [CUKY (5)]

SPRAS [LANG (1)]

MFRNR [CHAR (10)]

BESWK [CHAR (4)]

PRIO_URG [NUMC (2)]

PRIO_REQ [NUMC (3)]

ADVCODE [CHAR (2)]

STACODE [CHAR (2)]

_ISDFPS_ADVCODE2

MANDT [CLNT (3)]

BSART [CHAR (4)]

ADVCODE [CHAR (2)]

 MEPI_EBAN-ADVCODE = /ISDFPS/ADVCODE2-ADVCODE 

0..N

0..N

_ISDFPS_CSTACODE

MANDT [CLNT (3)]

STACODE [CHAR (2)]

 MEPI_EBAN-STACODE = /ISDFPS/CSTACODE-STACODE 

0..N

0..N

ADRC

CLIENT [CLNT (3)]

ADDRNUMBER [CHAR (10)]

DATE_FROM [DATS (8)]

NATION [CHAR (1)]

 MEPI_EBAN-ADRN2 = ADRC-ADDRNUMBER 

0..N

0..N

 MEPI_EBAN-ADRNR = ADRC-ADDRNUMBER 0..N

0..N

EINA

MANDT [CLNT (3)]

INFNR [CHAR (10)]

 MEPI_EBAN-INFNR = EINA-INFNR 

1..N

1

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 MEPI_EBAN-EBELN = EKKO-EBELN 

1..N

1

 MEPI_EBAN-KONNR = EKKO-EBELN 1..N

1

EKPO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

EBELP [NUMC (5)]

 MEPI_EBAN-EBELP = EKPO-EBELP 

1..N

1

 MEPI_EBAN-KTPNR = EKPO-EBELP 1..N

1

ESLH

MANDT [CLNT (3)]

PACKNO [NUMC (10)]

 MEPI_EBAN-PACKNO = ESLH-PACKNO 
1..N

1

ESSR

MANDT [CLNT (3)]

LBLNI [CHAR (10)]

 MEPI_EBAN-LBLNI = ESSR-LBLNI 

1..N

1

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MEPI_EBAN-KUNNR = KNA1-KUNNR 

1..N

1

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 MEPI_EBAN-EMLIF = LFA1-LIFNR 

1..N

1

 MEPI_EBAN-FLIEF = LFA1-LIFNR 1..N

1

 MEPI_EBAN-LIFNR = LFA1-LIFNR 
1..N

1

 MEPI_EBAN-MFRNR = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 MEPI_EBAN-EMATN = MARA-MATNR 1..N

1

 MEPI_EBAN-MATNR = MARA-MATNR 

1..N

1

PREQ

MANDT [CLNT (3)]

PRIO_REQ [NUMC (3)]

 MEPI_EBAN-PRIO_REQ = PREQ-PRIO_REQ 0..N

1

PURG

MANDT [CLNT (3)]

PRIO_URG [NUMC (2)]
 MEPI_EBAN-PRIO_URG = PURG-PRIO_URG 0..N

1 T000

MANDT [CLNT (3)]

 MEPI_EBAN-MANDT = T000-MANDT 
1..N1

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 MEPI_EBAN-LGORT = T001L-LGORT 

1..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MEPI_EBAN-BESWK = T001W-WERKS 

1..N

1

 MEPI_EBAN-WERKS = T001W-WERKS 

1..N

1

T002

SPRAS [LANG (1)]

 MEPI_EBAN-SPRAS = T002-SPRAS 

1..N

1

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 MEPI_EBAN-BMEIN = T006-MSEHI 

1..N

1

 MEPI_EBAN-MEINS = T006-MSEHI 

1..N

1

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 MEPI_EBAN-MATKL = T023-MATKL 

1..N

1

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 MEPI_EBAN-EKGRP = T024-EKGRP 

1..N

1

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 MEPI_EBAN-DISPO = T024D-DISPO 

1..N

1

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 MEPI_EBAN-EKORG = T024E-EKORG 

1..N

1

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 MEPI_EBAN-SOBKZ = T148-SOBKZ 

1..N

1

T149D

MANDT [CLNT (3)]

BWTAR [CHAR (10)]

 MEPI_EBAN-BWTAR = T149D-BWTAR 

1..N

1

T161

MANDT [CLNT (3)]

BSTYP [CHAR (1)]

BSART [CHAR (4)]

 MEPI_EBAN-BSART = T161-BSART 

1..N

1

T161S

MANDT [CLNT (3)]

FRGKZ [CHAR (1)]

 MEPI_EBAN-FRGKZ = T161S-FRGKZ 

0..N

1

T163

MANDT [CLNT (3)]

PSTYP [CHAR (1)]

 MEPI_EBAN-PSTYP = T163-PSTYP 

1..N

1

T163K

MANDT [CLNT (3)]

KNTTP [CHAR (1)]

 MEPI_EBAN-KNTTP = T163K-KNTTP 

1..N

1

T16FG

MANDT [CLNT (3)]

FRGGR [CHAR (2)]

 MEPI_EBAN-FRGGR = T16FG-FRGGR 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 MEPI_EBAN-WAERS = TCURC-WAERS 

0..N

0..N

TPRG

MANDT [CLNT (3)]

SPRAS [LANG (1)]

PRGBZ [CHAR (1)]

 MEPI_EBAN-LPEIN = TPRG-PRGBZ 

1..N

1

WAKH

MANDT [CLNT (3)]

AKTNR [CHAR (10)]

 MEPI_EBAN-AKTNR = WAKH-AKTNR 

1..N

1


